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BECE-016 : ECONOMIC DEVELOPMENT : 
COMPARATIVE ANALYSIS AND 

CONTEMPORARY ISSUES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per the instructions given 

for each section. 

SECTION - A 

Long answer questions 
Answer any two questions from this section. 
(in about 500 words each) 	 2x20=40 

1. Critically evaluate the Fei— Ranis labour surplus 
economy model. How do Fei and Ranis 
distinguish between redundant labour and 
surplus labour ? What are model's implications 
in terms of balanced growth ? 

2. Explain the concept of export-driven model of 
economic development. Critically evaluate the 
experience of Asian tigers in this regard. 

3. What is market socialism ? Explain the Lange 
model of market socialism. 

4. Explain the role of technology in enhancing the 
growth and overall economic performance. 
Examine the special place of information 
technology in this context. 
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SECTION - B 

Medium Answer Questions 

Attempt any three questions troth this section (in 
about 250 words each). 	 3)(10=30 

5. Explain the impact of economic reforms on trade 
and investment in India. 

6. What is present global trading system ? Explain. 

7. What is the difference between neoclassical 
growth theory and new growth theory when both 
incorporate the fact of technological progress ? 

8. What do you think of population rise in the 
context of development ? 

9. Write a note on globalisation and the African 
Development experience. 
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SECTION - C 

Short Answer Questions 

Answer all the questions from this section. (in 
about 100 words each). 	 3x5=15 

10. Distinguish between any three pair of the 
following. 

(a) Hicks neutrality and Harrod neutrality of 
technological progress. 

(b) classical economics and nen-classical 
economics. 

(c) Finance capitalism and monopoly 
capitalism. 

(d) Capitalism and Mercantilism. 

(e) Competitive advantage and comparative 
advantage. 

11. Attempt any three of the following. 

(a) Global economic depression. 

(b) WTO. 

(c) G-7 (Group of Seven). 

(d) Socialist economy. 

(e) Underdevelopment. 

3x5=15 

    

BECE-016 	 3 	 P.T.O. 



.47,11 rill 

41-4-f-,1 

2011 

4-.1.7#.1. 

 

-016: .3Tff fm 	 

ccPc,)qui Q‘ci i-11-if*drcich 

3.14, : 100 

77-4 	 77F4f 

Tjtrg - 

tT4 1"1 1;179 

74$ 	j.1 	ch 	 , •371, I 	( '9-T1.1171 

500 	1T -4) 	 2x20=40 

1. 	14-;11 	=1"-;-  %;i14 

3-11<:-11 ,-4-11c+-1ch T-J.-711ch '9 -0 I 	"iMIV:1571IT 1-1R 

ki 4-1 	sir -4 TFI '4;  ).,,i#T 	̀i4R7 	Tf"-cf,t17 

-7Tqf 	.57411:9-fr-ffi2i 

2.3-1-rt2:1,-T fqq)17:4F 	1TTF (1±xport -1)1-1k on) qii-T51 7*-1 

I 	IT1,749' 	1t1-7•11 

(Asian Tigers) 	 T 	 W1T1 

3. 741\77 TITT1-,1111 	% 	 iir 

ffr -EFJS I 

4. 110 	 h`riTT(T-1.  F-i-0 	I cff• 

-itT4 

7:791 	v't 	T-1T-If "Tr 7477-r011i 

77:17 : 3 

BECE-016 	 5 	 O. 



rftZfrf 3197 Ny-t 

, 
f-Tc7f t't I (lW1 250 	T4) 

3)(10=30 

71-17. 	fii.71-  TR.  ,31t4-- -  

074),AITo4c5i qqi ? TcrtZ 

1,1c4 	 tqwpj k ici  
6-1,14a ftriri7; 

-1;717:17-4 	 14 3174 

3-1-5n-Theer 	•3T-T-r-  ITT •T tt 
f. .TIT.4 I 

u8 -7T 

BECE-016 	 6 



39 Wvn, 7:7-7 	( çif  

100T) I 

3x5=15 

10. 	I Fa, 	ci  

(a) H 	-T91 1J, ci 7741 	41 cljt 	 

1,11 ,6a7f 

(b) 	1Ic1 :-3-32t7rw7 o,ct 	rcl 	1tr3d 3.1-201T 	I 

(c) f- 	 -tp)-arq 

(d) f1ii vjj(-,-,-iciK I 

(e) c)(11174-ich c1114 I 

1 . 	4-11 cilff 	 1-) c,-41(9,-11 	I 	 rn 	 
(a) 	 3RTf EE ift 

(b) fq-7q    (NTO) I 

(c) T1 	iI W (G-7) 

(d)  

(e) 1,111.4 I 

3x5=15 

BECE-016 	 7 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

